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ANSWER KEY 

1. a) BC = 10 cm 

AB = ? 

BC × BD = AB2 

10 × 3.6 = AB2 

36 = AB2 

AB = 6 cm 

b) AC = 8 cm 

Radius /  = 4 cm 

2. ∠A = 20o 

∠B = 80o 

∠C = 80o 

3. a) Perimeter /  

P = 9 + 12 + 15 

(Hypotenuse /  = 15 cm) 

P = 36 cm 

b) A = ½ × b × h = ½ ×12 ×9 = 54 cm2 

c) r = A/5 = 54/18 = 3 cm 

4. a) PA × PB = PC2 

𝑃𝐴 =
𝑃𝐶2

𝑃𝐵
=

122

8
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𝑷𝑨 = 𝟏𝟖 𝒄𝒎 

b) QA × QB = QC2 

QA = PA + PQ = 18 + 2 = 20 

QB = PB + PQ = 8 + 2 = 10 

20 ×10 = QC2 

200 = QC2 

QC =  𝟐𝟎𝟎 = 𝟏𝟎 𝟐 𝐜𝐦 

5.  

 

6.  

 


